Presl(a) 01PAO6 , inclusive ADC

a01PAO06

220
200 =
180
160 &

120
100 £
80 |
60 £

140 =
40
20 Fm

O 1 1 1 1 |

Entries
Mean
RMS
Integral
X2 / ndf
Constant
Mean

504000
1.164

7.202
5.038e+05

17512

1.944e+06 + 41089
0.5726 + 0.0006

Sigma

0.04393 + 0.00034

dO01PAOG

Entries

10

R S

- .- ....-
- =
2y d

-

Q.-

Mean

RMS

Integral
X2 / ndf
ampl-G
const-L
MPV-L

102

33.62

25.68

101

10.2/19
5.979+ 4.875
37.57+7.31
21.78 £ 3.87
11.3+ 3.4

sig-L




Pres1(a) 01PBO6 , inclusive ADC a01PBO06
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Pres1(a) 01PCO06 , inclusive ADC a01PCo06
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Presl(a) 01PDO06 , inclusive ADC a01PD06
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Pres1(a) 01PEO6 , inclusive ADC a0O1PEO6
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Presl1(a) 02PAO06 , inclusive ADC a02PAQ6
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Presl(a) 02PBO06 , inclusive ADC a02PB06
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Pres1(a) 02PCO06 , inclusive ADC a02PC06
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Presl1(a) 02PDO06 , inclusive ADC

180

160

140

120

100

80

60

40

20

0

a02PD06
Entries 504000
Mean 1.166
RMS 7.131
Integral 5.037e+05
X2 / ndf 183 /2
Constant 1.934e+06 + 40883
Mean 0.5728 + 0.0006
Sigma 0.04412 + 0.00034

12

10

50 100 150 200
ADC-ped

Pres1(d) 02PDO06 , ADC, tag: UxV 2*thr dO2PD06
Entries 103
"""""""""""""""""""""""""""""""""""""""" Mean 37.4
RMS 29.3
'''''''''''''''''''''''''''''''''''''''''''' Integral 103
X2 / ndf 14.54/ 18
""""""""""""""""""""""""""""""" ampl-G 3.034 + 2.467
const-L 42.4+ 7.6
"""""""""""""""""""""""""" MPV-L 24.84 + 2.49
sig-L 9.501+ 1.991

ANl

!

100

150 200
ADC-ped




Presl1(a) 02PEOG , inclusive ADC a02PEO6
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Presl(a) 03PAO6 , inclusive ADC
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Presl1(a) 03PBO6 , inclusive ADC a03PB06
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Presl1(a) 03PCO06 , inclusive ADC
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Pres1(a) 03PDO06 , inclusive ADC a03PD06
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Pres1(a) 03PEOG6 , inclusive ADC a0O3PEOD6
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